
INSTALLATION MANUAL

Di�culty Level:

Copyright Boom Racing Ltd. All Rights Reserved.

1.9" Narrow 16-Hole Classic Steelie Reversible Beadlock Wheel With XT504 6-Lug Hub #BRW780942

Wheel O�set with Hubs (XT504-6LUG)

STANDARD SETUP

STANDARD NARROW

DEEP DISH SETUP

O�set 0mm

11.3mm

Centerline

Centerline

O�set 2mm

9.3mm

Centerline

Centerline

(1) Front Faceplate    2

(2) Center Hub Cap    2   
      (Front or Rear)  

(5) XT504 6-Lug Wheel Hub Adapter  2

(6) M2x10 Socket Cap Screw  12

(7) M4 Nut - Nyloc    2

(8) 7mm Socket Adapter   1

(3) Wheel Center Piece    2

(4) Wheel Back Piece    2

               Qty.
Parts Included: 

M3x3 Set Screw
(not included)

D2x10 Pin
(not included)

8mm Hex Adapter
#BRLC7056

(not included)

(Tire not included)

XT504-6LUG Aluminum 12mm Wheel Hub Adapter
4mm O�set
#BRXT504-6LUG

Front Faceplate
#BRW780919A

Wheel Center Piece
#BRW780919C (Standard)
#BRW780920C (Narrow)

Wheel Back Piece
#BRW780919B (Standard)
#BRW780920B (Narrow)

Center Hub Cab (Front)
#BRW780909/COVERF

Center Hub Cab (Rear)
#BRW780909/COVERR

M2x10 SC

M4 Nuts

Installation Manual

7mm Socket Adapter for assembly.
(Use any standard 7mm socket wrench 
for the adapter.)1

3

4

6

7

8

5

2 2

0mm O�set
#BRXT500-6LUG

Optional Aluminum 12mm
Wheel Hub Adapter 

STANDARD
SETUP

DEEP DISH
SETUP


